Warmup 11/22°

1. Find two points that would be on the graph of the
equation 5x + 2y = 60.

2. Early finishers: find as many MORE points as you can.

14, -5
(12, 0) (6. 15) ( ) (4. 20)
(0, 30)
2,25 (8.10)
(10.5) (2.29) (,27.5)
(20, -20) (9,7.5)
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Next Quiz...

- Will be on MONDAY! Topics Covered:
- Solving Systems by Graphing
+ Solving Systems by Substitution (Today & Tomorrow)

Another way to solve systems...

- Look at #2 on your homework.

Since y = both, you
y @ can set them equal
= @ to each other

2x—8=-3x+7

Then solve...

- x = 3 (Does this match your original answer?)
-How can we get y?

Check homework...

- | have 15 or so copies of the answer key. If you would like
to have one, you may!
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Solving Systems by Substitution

Objective:
- Use substitution to solve systems of equations




[
WHITEBOARDS
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Solve the System of Equations using

Substitution

Xx+y=10
y=2

(8.2)

Solve the System of Equations using
Substitution

5x + 5y =10
y=>5

(15, 5)

|
Solve the System of Equations using

Substitution

y =x+ 100
y =45

(-55, 45)

Solve the System of Equations using
Substitution

3x + 10y = 20
X=06

(6, 3)

Solve the System of Equations using
Substitution
Ax +y =24
y - Now find y:
Ax +y = 24 y = 2X
) y = 2(4)
Ax + 2x =24 y=8
6x = 24
X=4 (4, 8)




CHECK: Solve by Substitution:
Solution: (4, 8) 2Xx—y =15
4x+y =24 X =
4(4)+8 =24 2x =y =15 Now fin
16 + 8= 24 2(3y) -y =15 X = 3y
24=24/ 6y —y =15 x=3(3)
5y = 15 X=9
y = 3 9, 3)
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CHECK:

Solution: (9, 3)
2x -y =15

2(9)-3=15
18-3=15

15=15\/

Substitution Strateqy:

-If y = (something) you can replace the y
from the other equation with the (something)
- Same with x = (something)

Solve by Substitution
6Xx +4y =8
y = -2X

(-4, 8)

Solve the System of Equations using
Substitution

y=2x-21
y=5x-3

(-6, -33)
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Solve by Substitution Harder?
X = By y=2X-3
-2x + 20y = -10 X+y=7
(-5l -1) (2s 1)
]
Even harder? Example 2:
X+2y=2 X+2y%=2
y=x+4 y 6
X+2y=2 y=x+4
X+2(x+4)=2 y=-2+4
X+2Xx+8=2 y=2
3x+8=2
3x=-6 (-2, 2)
X=-2

Whiteboard:
Ax -6y =4
X=2y-5
(19, 12)

Whiteboard:
y=3x+8
8X + 4y = 22

161
22




{Zx —8y =14
x=4y+2
NO SOLUTION!
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Story Problem

- Tommy and Chuckie have 60 bottles all together.
Chuckie has 3 times as many bottles as Tommy. How
many bottles do they each have?

.T+C=60
g | = 3C or C = 3T??7? Discuss.

Tommy has 15 bottles,

{T+C=60
Chuckie has 45 bottles

C=3T

I —
Story Problem

- Tommy and Chuckie have 60 bottles all together.
Chuckie has 3 times as many bottles as Tommy. How
many bottles do they each have?

60
Chuckie: | X | X | X
X + 3x =60

I —
Story Problem

- Phil and Lill have 42 pacifiers all together. Phil has 8
more pacifiers than Lill. How many pacifiers do they

each have?
{P+L=42
L+8=P

Phil has 25 pacifiers,
Lill has 17 pacifiers

Homework:

- p.247 (1-10, 15)
- DUE ON FRIDAY!!!




